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Name:Subtraction

Warm Up

1)  6 6 5 8
5 3 6 1-

2)  9 6 3 5
3 8 4 6-

3)  21 7 2 4
6 8 9 5-

4)  78 9 3 5
27 4 6 7-

1)     Last year a farm produced 37 783 apples. This 
year the farm produced 42 988 apples. How 
many more apples did the farm grow this year?   

2)     11 234 people were surveyed about a movie. 
7 598 people liked the movie, the rest did not. 
How many people did not like the movie?

3)     Jack Thomson had $900,000 to purchase 
some new farm vehicles. To date, he has spent $558 
500. How much has he left to buy more vehicles?

4)     To reach its destination a ship needs to travel 9 
836 km. If it has travelled 7 575 km, how far does the 
ship still need to travel?

5)    There were 46 730 spectators at game 1 of the 
finals and 48 705 spectators at game 2. How many 
more spectators at game 2 than game 1?

6)    The populations of Maldon and Oxfordtown are 
shown. How many more people live in Maldon than 
Oxfordtown?   Maldon: 49 704    Oxfordtown: 28 995

7)    A water tank is filled with 86 700 L of water. 14 770 
L is then used to water the garden. How much water 
is left in the tank?

8)    Sam has 90 436 files on her computer. After 
deleting 23 469 files, how many files left on her 
computer?

9)     In the town of Newtown there are 77 430 
people. 58 006 people are 65 years old or younger. 
How many people are over 65?

10)     54 335 tins of fruit sold in February. 61 438 sold 
in March. How many more tins of fruit sold in March 
compared to February?


